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t=0s Ve —  jts maximumlength just short of the
mOmentum= a2k — ground below.
t=18 iy """;;'“' . Till in the blanks. Bronco's mass is 10(

momentum= - acceleration of free fall is 10 m/s?

Express values in SI units (distancein 1
veﬁ)cityin m/s, momentum in kg_—m/ 8.
impulse in N-8, and decelerationinm/:
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Amv during the 2-s interval of slowing d.
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Impulse durinfi t\he 2-8 interval of slowing
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Average force exerted by the cord during )
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How about work and energ® How much Ki

does Bonco have 3 s aft
IR er his jump?

How much does gravitation
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1. Which car has the greater acceleration? (AVIC J\Q L lk
AN A \ :
2. Which car spends more time along the surface of thelot? ___ . L (

3. Which car is moving faster when it reaches the edge of the cliff? A

4. Which car has the larger impulse imparted to it by the applied force? Defend your answer.
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| 5. Which car has the greater momentum at the edge of the cliff? Defend your answer.

% ¢
AR "\ p— - | ~
3 o \ / /

DAt
- 'R

6. Which car has the greater work done on it by the applied force?
Defend your answer in terms of the distance traveled.
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B 7. Which car has the greater kinetic energy at the edge of the cliff? Mcidng the dis""d"f’" <
§  Does your answer follow from your explanation of 6? momentum and kinetic e
Does it contradict your answer to 4? Why or why not? high-level physics!
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8. Which car spends more time in the air, from the edge of the cliff to the ground below? 10

§ 9. Which carlands farthest horizontally from the edge of the cliff onto the ground below? gt

10. Challenge: Suppose the slower car crashes a horizontal dis
what harizontal distance does the faster car hit?
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